

Math 1172 HW #5

Section 6.8 47, 53

Section 7.1 15, 57

6.8 #47

$$\lim_{x \rightarrow \infty} x^3 e^{-x^2} = \lim_{x \rightarrow \infty} \frac{x^3}{e^{x^2}} \quad \frac{\infty}{\infty}$$

$$\stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{3x^2}{e^{x^2} \cdot 2x} = \lim_{x \rightarrow \infty} \frac{3x}{2e^{x^2}} \quad \frac{\infty}{\infty}$$

$$\stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{3}{2e^{x^2} \cdot 2x} = \frac{3}{\infty} = 0$$

6.8 #53

$$\lim_{x \rightarrow 0} \left(\frac{1}{x} - \frac{1}{e^x - 1} \right) \quad \infty - \infty$$

$$= \lim_{x \rightarrow 0} \frac{e^x - 1 - x}{x(e^x - 1)} \rightarrow \frac{e^0 - 1 - 0}{0(e^0 - 1)} = \frac{0}{0}$$

$$\stackrel{H}{=} \lim_{x \rightarrow 0} \frac{e^x - 1}{x(e^x) + (e^x - 1)} = \lim_{x \rightarrow 0} \frac{e^x - 1}{xe^x + e^x - 1} \quad \frac{0}{0}$$

$$\stackrel{H}{=} \lim_{x \rightarrow 0} \frac{e^x}{xe^x + e^x + e^x} = \lim_{x \rightarrow 0} \frac{\cancel{e^x}}{\cancel{e^x}(x+1+1)} = \lim_{x \rightarrow 0} \frac{1}{x+2} = \frac{1}{2}$$

7.1 #15

$$\int t^4 \ln t \, dt$$

$$u = \ln t$$

$$du = \frac{1}{t} dt$$

$$dv = t^4 dt$$

$$v = \frac{1}{5} t^5$$

$$\hookrightarrow \ln t \cdot \frac{1}{5} t^5 - \int \frac{1}{5} t^5 \cdot \frac{1}{t} dt$$

$$\frac{1}{5} t^5 \ln t - \frac{1}{5} \int t^4 dt = \frac{1}{5} t^5 \ln t - \frac{1}{5} \cdot \frac{1}{5} t^5 + C$$

7.1 #57

$$\int (\ln x)^n dx$$

$$u = (\ln x)^n$$

$$du = n(\ln x)^{n-1} \cdot \frac{1}{x} dx$$

$$dv = dx$$

$$v = x$$

$$\hookrightarrow = (\ln x)^n \cdot x - \int x \cdot n(\ln x)^{n-1} \cdot \frac{1}{x} dx$$

$$= \underline{\underline{x(\ln x)^n - n \int (\ln x)^{n-1} dx}}$$